31

REEM WMK51T
k)7l 16
13
Tt
ik JTZ
J10 EJB 5
nﬂ

;. BFYYY b g /AN

547 J-F&S

#1Z #4142

4 61040008 | 26 28 50 14 5 26 14 10 9 42 6 1.5 | 120" | M8X28 | H, He, HeX
4,5 4605027 | 23 28 50 14 & 26 14 10 9 42 6 1.6 | 120° | M8X28 | Z-4, Z-5
5 61060104 | 23 25 65 15 5 38 19 10 9 65 5 1.5 | 120" | M8X22 | HX, HHX
6 60060001 | 30 34 80 26 3.5 41 25 11 ) 70 6 1.5 | 90° | M8X22 | H, He, HeX
62061640 | 27 30 70 20 5 33 25 11 9 51 5 1.5 | 120" | M8x25 | Z
8 60080001 | 36 40 90 25 & 45 25 14 13 65 20 1.5 | 120° | M12X32 | H, He, HeX
62080904 | 34 40 79 25 5 39 25 14 13 58 15 1.5 | 120° |[M12%X32 | Z
s 60100001 | 40 48 | 110 | 31 6 50 30 16 13 90 25 1.5 | 120" | M12X32 | H, He, HeX
10, 11 | 60100101 | 40 48 103 | 31 6 50 32 16 | 135 | 88 25 1.5 | 120" | M12X32 | H, He, HeX
60100301 | 40 42 110 | 27 B 50 30 16 13 73 16 1.5 | 120° |M12x32 | Z
60120001 | 50 50 130 | 33 6 60 30 18 15 | 100 | 30 1.5 | 120" | M14X40 | Z H, He, HeX
12 60120101 | 50 50 140 | 33 6 68 32 18 15 [1025] 20 1.5 | 90° | M14X40 | H, He, HeX
4612165 | 46 50 112 | 33 6 52 30 18 15 90 25 1.5 | 120" |M14Xx40 | Z
4612164 | 46 50 112 | 33 6 52 32 18 5] 90 25 1.5 | 120" |M14X40 | Z *
15. 18 60150101 | 62 62 150 | 43 8.5 45 50 22 22 105 - 3 — | M20X50 | H, He, HeX
i 3615102 | 58 62 140 | 43 85 60 50 22 22 | 120 | 58 & - | M20X50|Z
K 21~24 | 3624011 | 73 | 953 | 200 | 758 | 6.3 | 61.9 | 76.2 |31.75| 22 |38.88| - - - M20 HH
28~40 | 3632006 | 80 | 953 | 200 | 758 | 6.3 | 61.9 | 76.2 |31.75| 22 |38.88| — = = M20 HH

# (IB) BICEH NC i SRR

F5PE R FROEMEEATZHEE. BEM- BENIHRINET,

(&8 mm)
)

el S

J—-F&S
60080301
60080004 | 36 | 60 | 90 | 45
60080007 | 36 | 70 | 90 | 55
60080003 | 36 80 90 65
4610112 | 40 | 48 | 125 | 31
60100003 | 40 | 60 | 110 | 43
60100005 | 40 | 70 | 110 | 43
10,11 | 60100004 | 40 80 110 | 63
60100106 | 40 48 118 | 31

H, He, HeX, Z
120° H, He, HeX, Z
120° | &&70 | H He HeX Z
120° | S=80 | H He HeXZ

1.5
45 25 14 13 65 20 [[E5)
45 25 14 13 65 20 1.5
45 25 14 13 65 20 1.5
65 30 16 13 90 10 1.5 | 90° /VEF | HHe HeX,Z
50 30 16 13 90 25 1.5 | 120" | &E60 | H He HeX, Z
13 90 25 1.5 | 120° H, He, HeX, Z

15

1.5

15

1.5

19

50 30 16 13 90 25 120° | &80 | H He HeX Z
65 32 16 | 135 | 88 10 90° AVEFS | H He Hel, 2

olo|o|o|o|o|o|o|a|a|alo
o
S
w
S
)

60100103 | 40 60 103 | 43 50 32 16 | 135 | 88 25 1200 | & H, He, HeX, 7
60100104 | 40 80 103 | 63 50 32 16 | 135 | 88 25 120° H, He, He, Z
12 60120006 | 50 90 130 | 73 60 30 18 15 | 100 | 30 1200 & H, He, HeX, Z

# (I8) Bt NC iEi A&

' GH/GX B&EM

(84 mm)

EREEME (¢)
4 460416643 NMEIEE 4~104 23.5 21
6 460649842 NS 25 =72 255 24
460657424 KRBT+ 72~154.8 38 30
460813422 MEIEEE 16 ~90 23.5 24
8 460881245 AERIEIE 25~90 23.5 24
460883944 aMRIEE 90 ~ 180 27 89
10 36105574 34 ~228 29 28
12 36125974 45 ~ 274 43 46

. TEHEFA]T mmck TFor - KUMHELET. WS 4 BK51T

[
ke

RS
J11 112 )13 114 J15 116 17 HAZ

3606059 4 9 | 1.5 | R37 | R58.5 | R80 - - M8 H He, ek, Z
8 3608040 | 40 | 48 | 90.6 | 35 | 4 | 20 | 20 | 14 | 26 | 11 | 1.5 | R46 | R73.5 | R101 — = M12 | Hhetel?
S 10,11 | 3610042 | 45 | 56 |100.5| 40 | 6 | 25 [ 25 | 16 | 30 | 13 | 1.5 |R61.5| R93.5 |R125.5] — - M12 | Hhetell
12 3612030 | 50 | 62 1115 45 | 6 |30 [30| 18 |32 | 15 | 1.5 | R78 | R114 | R150 | — - M14 | HHeHl?
15,18 | 3615044 | 62 |66.5|144.4| 56 | 85 | 50 | — | 22 | 40 [17.5| 3 |R62.5|R137.5| R175 |R100| - M20 | it Hl?
K | 21~40 | 3228004 | 73 |95.3| 141 [75.8| 6.3 |76.2| — [31.75/38.2|25.4| — |R235| R289 | R340 |R235/38.88| M20 | HH

BKy147

(& mm)

4604012 4 S Z, HH
5 61060105 | 30 1B 16.5 10 19 5.5 11 M8 = ) ES HX, HHX
6 60060002 | 40 175 20 11 25 7.5 12.5 M8 C3 7 M H, He, HeX, 7, HH
4606067 | 31 17.5 20 1" 16 75 12,5 M8 3 7 @M H, He, HeX, Z, HH
8 60080002 | 45 20 23 14 25 10 14.5 M12 c4 10 &M H, He, HeX, Z, HH
s 4608090 | 40 20 22 14 20 10 135 M12 C4 10 B H, He, HeX, Z, HH
60100002 | 50 23 23 16 30 10 15 M12 C4 15 ESI H, He, HeX, 7, HH
10 60100102 | 52 23 23 16 32 10 5} M12 C4 15 EM H, He, HeX, Z, HH
4610066 | 45 23 23 16 25 10 15 M12 C4 15 @M H, He, HeX, Z, HH
12 60120002 | 54 29 30 18 30 12 16 M14 c6 15 A MEEM | H, He, HeX, 7, HH
60120102 | 56 29 30 18 32 12 16 M14 C6 15 ) H, He, HeX, 7, HH
15, 18,22 | 60150102 | 80 34 395 22 50 15 20 M20 C6 12 ZETUBEITU | H, He, HeX, Z, HH
K 21,24 ~40| 4228006 | 114.2 40 30.2 30 76.2 19 17.5 M20 c1 - EmgEn | HH

# (IB) BILFH NC ER A&

. VAT —F— Kyr7em @msm
(@t mm) i+
j2 ?ﬁﬁ )
13-+ o

4632002

4624014 72 38.88 6,35

4624018 63 37 6 HH6J
4615081 49 16 25

4228005 72 38.88 6.35

4650003 79 38.88 6.35

4618025 63 37 6

32




